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1 dewE 48 2 3 2 8 7 1+8 1 8 3
2 HRE 45 7+5 8 5+7 7 6
3 FEF 405 4 1 6 6.5 2 6 7 8
4 5 39 8+4 8 1 6 6 5 1
5 Kt 37 7+6 6+3 7+8
6 HErdt 36.5 1 2 25 8 3 5 4+5 6
1 E2BE 34 5 7 5 8 4 5
8 SHilE 27 5 1 6 7 3 5
9 EZ 25 8 2 8 7
10 [3¥ 24 6 7 3 3 5
11 AILE 20 2 4 3+6 3 2
12 K& 185 2 6 8 2.5
13 A 18 6 8 4
14 EEIR 16 3 1 7 5
15 RE 16 4 2+7 2+1
16 RAE 15 7 8
17 glIlE 14 8 6
18 A% 9 1 4 4
1958 8 3 5
20 LM 7 7
21 KILF 7 3 4
22 BBRE 7 1 4 2
23 FIB 6.5 6.5
24 AR 6 6
25 52 6 5 1
25 5 6 1 5
27 fHg 6 2 4
28 EREAS IR 5 5
29 K| 5 3 2
30 ERF 4 4
30 £F 4 4
30 f=2@ 4 4
30 &I 4 4
34 & 4 1 3
35 BEFE 3 3
35 BigF 3 3
3785 2 2
37 HE 2 2
39 ERR 1 1
39 &I 1 1




